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SECTION A

Answer ALL questions in this section.

Questions must be answered with a cross in a box [X. If you change your mind about an
answer, put a line through the box $< and then mark your new answer with a cross [X.

Ceteris paribus, which one of the following would reduce the geographical mobility of
labour within a country?
[J A Anincrease in relocation grants paid by the government
[J B Anincrease in the costs of relocating from one region to another
[J € More accurate information about job opportunities in different locations
[ D Similar average house prices in different regions of the country
(Total for Question 1 = 1 mark)
The diagram shows the long-run equilibrium for a restaurant in Bangkok, Thailand,

operating in a monopolistically competitive market.
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Which one of the following can be deduced from the diagram?

[J A Thefirmis producing the allocatively efficient level of output at price P,
B The firm will leave the industry if average costs fall
C The firm is producing the productively efficient level of output Q,

D The firm is making normal profit

(Total for Question 2 = 1 mark)
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3 The table shows the total costs of a battery manufacturer at different levels of output.
Output Total costs (£)
0 £4500
100 £8000
200 £10700
300 £13200
400 £15300
Which one of the following is the average variable cost at 300 units?
L0 A £15
0 B £27
0 ¢ £29
[ D £44
(Total for Question 3 = 1 mark)
y,
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4 The chart shows the market share, by revenue, for airlines operating domestic flights
in the USA, February 2019-January 2020.

Others, 11.0%

American, 17.6%
SkyWest, 2.9%

Frontier, 3.1%

Spirit, 4.2%

JetBlue, 5.5%
Delta, 17.5%

Alaska, 6.4%

United, 14.9%
Southwest, 16.9%

Which one of the following is the five-firm concentration ratio for airlines operating
domestic flights in the USA?

N

(|
(|
(|

o N w >

66.9%
73.3%
77.9%

78.8%

(Total for Question 4 = 1 mark)

5 InJanuary 2021 the UK Government set up a new national construction products
regulator to ensure that homes are built from safe materials.

Which one of the following would limit the impact of government intervention in the
housing market?

O o oo

O N w >

Perfect mobility of resources

A flexible labour market

Perfect knowledge of the housing market

Regulatory capture

(Total for Question 5 = 1 mark)
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( )
6 Prior to 2016 there was a competitive labour market for nurses in Argentina.
Following the introduction of a universal healthcare system there is now a
monopsony employer of nurses in the country.
Which one of the following combinations is the most likely impact of the
introduction of this monopsonistic labour market?
Wages Number of employees
L] A Lower Lower
] B Lower Higher
[l C Higher Lower
[ D Higher Higher
(Total for Question 6 = 1 mark)
TOTAL FOR SECTION A = 6 MARKS
. J
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SECTION B
Study Figures 1 and 2 and Extracts A and B in the Source Booklet before answering Question 7.
Write your answers in the space provided on the following pages.

7 (a) With reference to Figure 1, calculate the percentage change in Amazon’s revenue
between 2010 and 2020.

(b) With reference to Figure 2, explain the market structure of cloud infrastructure
providers.

(c) With reference to Extract A, analyse the likely impact on consumers of two
methods by which Amazon competes with other retailers.

(d) With reference to Extract A, examine two likely effects of the global health crisis
on Amazon’s profits.

(e) With reference to Extract B and your own knowledge, discuss reasons why many

SMEs in South Africa shut down in 2020.

[llustrate your answer with an appropriate diagram.
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7 (a) With reference to Figure 1, calculate the percentage change in Amazon’s revenue
between 2010 and 2020.
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(b) With reference to Figure 2, explain the market structure of cloud infrastructure
providers.
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(c) With reference to Extract A, analyse the likely impact on consumers of two
methods by which Amazon competes with other retailers.
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(d) With reference to Extract A, examine two likely effects of the global health crisis
on Amazon’s profits.

1

R O O Turn over »
p 6 7 0 0 5 A 01 1 2 8 urhove




s

R

NI 3

SIH1

18 ba
LELLE

\J

pSogosetetet

=
«

02!
X
Dose %%
0‘.'. <
s o2 Yo%
S
RS
g >
Jotor—
oo

12
— RO T
P 6 7 0 0 5 A 01 2 2 8



<
Ll
o
<
4
X
ks
=
(58]
o
o
=
=
o)
=
()
o

DO NOTWRITE IN.-THIS:AREA:

(e) With reference to Extract B and your own knowledge, discuss reasons why many
SMEs in South Africa shut down in 2020.

[llustrate your answer with an appropriate diagram.
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(Total for Question 7 = 34 marks)

TOTAL FOR SECTION B = 34 MARKS
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SECTION C
Answer TWO questions from this section.

In 2021, the UK-based firm PhotonLens, which produces virtual reality smart
glasses, merged with the Chinese firm Shadow Creator, which specialises in virtual
reality software.

Evaluate the benefits of growth by merger.

lllustrate your answer with an appropriate diagram(s).

(Total for Question 8 = 20 marks)

The tax authority in Singapore offers a tax incentive of up to S$100000 to new
businesses in their first three years of trading. The objective of this scheme is to
promote competition.

Evaluate methods that a government could use to promote competition in a market.

lllustrate your answer with an appropriate diagram(s).

(Total for Question 9 = 20 marks)

The Indian premium smartphone industry is dominated by three firms: Apple,
Samsung and OnePlus. These firms compete mainly using non-price competition.
Evaluate the use of non-price and price competition in oligopolistic markets.

lllustrate your answer with an appropriate diagram(s).

(Total for Question 10 = 20 marks)
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DO NOTWRITE INTHIS AREA

Write the answer to your FIRST chosen question here.

Indicate which question you are answering by marking a cross in the box X. If you change your
mind, put a line through the box £< and then indicate your new question with a cross [X.

Write the answer to your SECOND chosen question on page 22,

Chosen question number: Question8 [ Question9 [] Question 10 []
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Write the answer to your SECOND chosen question here.
Indicate which question you are answering by marking a cross in the box X. If you change your
mind, put a line through the box £< and then indicate your new question with a cross [X.
s | Chosen question number:  Question8 [] Question9 [] Question 10 []
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TOTAL FOR SECTION C =40 MARKS
TOTAL FOR PAPER = 80 MARKS
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Sources for use with Section B
The impact of the global health crisis
Figure 1 Amazon’s annual revenue, 2010-2020 (billion US dollars)

400 386.06
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Figure 2 Worldwide market share of cloud infrastructure providers by revenue,
Q4 2019

Others

Tencent Cloud

Oracle Cloud
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Alibaba Cloud
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Extract A Amazon

Amazon, the American global distribution business, increased its revenue from

$280.5 billion in 2019 to $386.1 billion in 2020. For the year ending 31 March 2021 its

profit was $167.6 billion. The business operates mainly online but it also has several

physical stores. Amazon’s success has been driven by its methods of competition 5
including its focus on convenience, fast delivery, low prices and choice for its consumers.

Over 28% of consumers complete an Amazon order in three minutes or less and 50% of
consumers in under 15 minutes. Amazon produces its own products such as Amazon

Prime, Alexa, Kindle, Fire and Echo, as well as selling millions of additional products.

Amazon also offers the opportunity for third party suppliers to sell on its website. 10

During 2020, the global health crisis prevented consumers from visiting physical stores.

As a result many people used Amazon to purchase products online. This led to an

increase in the demand for goods supplied by Amazon. Its costs of production increased

by $4 billion, mainly as a result of employing an additional 400 000 workers in 2020. By

the end of the year, it employed 1.3 million full-time and part-time workers globally. A fall 15
in labour productivity also caused an increase in costs.

Extract B Small and medium-size enterprises (SMEs) in South Africa

As a result of the global health crisis the revenues of many South African enterprises

fell significantly. In July 2020 a management consultancy company conducted a survey

of 4500 businesses in South Africa to examine the impact of the global health crisis.

It reported that 21% of enterprises were closed but, of these, 64% indicated that they 5
expected to reopen.

The survey also established that SMEs were 26 times more likely to close than much

larger enterprises. In addition, SMEs would require R1.1 trillion of government financial

support in order to remain open in 2021. In South Africa SMEs make up 98.5% of the total
number of enterprises and contribute 39% to the country’s GDP. 10

In the survey 70% of SMEs reported that they cut back on spending to survive. Over half
of medium-sized enterprises were only able to survive by closing parts of their business
or reducing capacity until the economic situation improved. However, the revenue of
many SMEs did not cover their variable costs and they were forced to shut down.

The survey findings were not all negative. Those SMEs offering essential services, such as 15
food, reported an increase in revenues. Although costs had also risen, profits had either
remained constant or had increased.
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